normalized X?

Entries
Mean 1.269
Std Dev 0.6237

o5 -2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

0.14

0.12

0.08

0.06

of-i-

0.3 0405 06 07 0809 1
Prob(x?)

=== DQM_CKF_TTbar
s DQM_mkFit_TTbarPU-ncp
wmmm DQM_mkFit_TTbarPU-newTr5

(%]

N
]

< x2/ndf >

N

1.5

i

< x2/ ndf >
-
@

g
o)

10 1 10 10? pw3

<op fp_> (%)

Ratio

T

<pr/p > (%)

< X2/ ndf >

[l

o LN w A

19

0 1 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

10°° 1072 107
AR(track, ]et?



	Contents
	Page 1


